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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section. J

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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Qs A
SECTION A

Ql. Tr=feTRaa weeh To= &1 I T 150 reat § SfRTU ;

Answer the following questions in about 150 words each : 10x5=50

(a)

(b)

(c)

(d)

(e)

Q2. (a)

(b)

Yoo o foaR & foeeE # % & Anrerl i ek it |

Discuss the contributions of Fayol in the development of management
thought. 10

eIVl (TEWH) 6T HehoodT I Il HIT Td 37 HHH H 9q2y S
=k o WAl UshH & HreY W@ B |

Explain the concept of Perception and state the factors which have a
bearing on the perceptual process of an individual. 10

IMYFF T AERE TS H HUERT TR % uig chi o sqwE
Hife |

Explain five ways of employee empowerment in modern smart
governmental organisations. 10

Tl @ et aeenl @ Sfed sgEw o gu smifew (wfR=m) w
TR (FEHIHYHS ) cd Afert i faa=mr hifd |

Discuss contingent and transformational leadership styles with suitable
examples from government and private sectors. 10

SF A FM1 B ? TR FHANE F 80T F [, IeAEHaT, I,
Afth Slaeore U geerstt ¥ w1 ey R ? W oneid SeHt % wed
ST Y | |

What is Job Satisfaction ? What is its relationship with employees’

intention to stay, productivity, absenteeism, turnover and accidents ?
Answer in the context of Knowledge Based Organisations. 10

R (do) @ R B | sicodaRes it siadafe da
HH-HH F § 2 TR GHIUE S TR S Tehar 2 2 I A |

Define Conflict. What are Intrapersonal and Interpersonal conflicts ?
How can these be resolved ? Give examples. 20

WA U9 qa=R % i w= gy R 2 e Ter % TeEi w5 e
i |

What is the relationship between entrepreneurship and innovation ?
Discuss different types of innovations. 15
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(c)

Q3. (a)
(b)
(c)
Q4. (a)

(b)

(c)

HISATCH STaE Sgfawefl Toed 1 g1 3 | 3 ge, T wfed 10 W@ fervai
¥ A Sarse f SedTeT SFagR sF A A fEn B | e foav %
fore ok Sergan e |

Organisational Behaviour is of multidisciplinary nature. Name
10 disciplines including emerging disciplines which contributed to make
organisational behaviour. Give one example for each of the disciplines.

AR w0 R ? T G # FHATE B ARERG W H AGedl h Ao
ORI 1 8 SEAHTA fohaT ST Tehal & 2 SUTEAT Shilvg |

What is Motivation ? How can Maslow’s Hierarchy theory be used to
motivate employees in an organisation ? Explain.

15

15

e fNfEh grr sfkeued THL L3R UE. % U] 3R higas AehiieH
(aRrgfy srareen) 1 e FRm | @ aftfa Aftior iR A der

3 79/ i |

Explain the components of the technology enabled HRIS and feedback
mechanism in an organisation. Do they lead to increased motivation and
morale ? Substantiate. ' |

TTSTeRs Ty | o1 % GHTeT GId Td YR TR 8 ? 379 by Huer S
AT B ?

What are the potential sources and consequences of stress in the
organisational context ? How can we deal with them ?

SraeThE 3t Menfich afadal & ey d v gamae fFrism 6 gAfai
1 = hifv |

Explain the challenges of Human Resource Planning in the context of
demographic and technological changes.

“FRIETE TS T THAE Iawarred, faftes gf= & fiax, 1 arfaest & feai
#T A FET BT & N BREH FSAT W AHINS ST Ta) dlg S
Thd & |7 T 3T 39 U U WEHd & ? TR HINT |

“A business organisation’s sole responsibility is to further the interest of
its owners within the boundaries of legal framework and business

organisations cannot be charged with social responsibilities.” Do you
agree with the statement ? Explain.

TS TERIA F1 3 2 TS HERI Bl HH SHIET ST Hehell 8 ? SATEHAT hIT |

What is organisational culture ? How can organisational culture be
built ? Explain.
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SECTION B

Q5. TrefeRaa uede gem 1 3w o 150 wrsat ® v

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

SiTe AnT-Huier 3R wsRe ara-Fetor s aftifte Hife | S area-Rtor
Tera-fort aTal & wspm mra-frator & i R 9

Define Job Costing and Process Costing. In what ways is Job Costing
different from Process Costing ?

fercfiar fooferl # yerem Srameter % wew ) THEEy |

Explain the importance of Management Accounting in financial
decisions.

“eproft <t weperar g doft e o sl st 2 17 vl Hifv |

“The success of a company depends on its well-planned -capital

structure.” Examine.

TR e % freraT uiee 1 e fif | 39 Thet I &% Feieer §
I8 Hisd fhd YR U= & ?

Explain the Miller-Orr model of cash management. How is this model
helpful in determination of appropriate cash balance ?

IR G G Td yaifadt % Wi uh wWsiar ® | 5§ wed @
GHTATEHTCe HeTehd ShiTg |

Market segmentation is a compromise between efficiency and
effectiveness. Critically evaluate this statement.

A NG 3R AHs arma-fuftor =) afenfig Hivm | o ara-Rgko
arTd W garelt frEer # frg R 3w g & 2

Define Standard Cost and Standard Costing. How is Standard Costing
useful in the effective control over the cost ?

M faovE afew § ores grwr (Revm) o1 wewel @ 2 o @n a9
TTEehi sl YR A % T 19T S wert arreft iRl 1 e Hifv |

Why is customer retention important in the current marketing
environment ? Explain the strategies that could be adopted to retain
customers for a long period of time.
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(c)

7. (a)

(b)

.(c)

8. (a)

(b)

(c)

FEiEie $oft i T=TeR = dehedT i STE HIfY | wRivhd gt b ey
T T sk T & TSI R YR HE™eh Bial & ? WHSsy |

Explain the operating cycle concept of working capital. How is a close
study of operating cycle helpful in the management of working capital ?
Explain.

“Sfaadt ot wd wfaenita ot rTa-Afed ISl e d 8 |7 T 9 3 R
Y wgad @ ?yﬁwﬁﬁaﬁﬁﬁm#ﬁfvﬁﬁmﬁm|

“Equity capital and Retained earnings provide cost-free capital.” Do you
agree with this statement ? Explain the methods for determining their
costs.

v 4 fif s gfenfya S | e siftree S8 TR Star 8 2 3
& Tl gHEET |

Define funds from operations. How is it computed ? Explain with
example.

o fufor (i) susice % aftass # fren SiTar 8 3R A b 3edrg 6 |
Tt SR & g o gaeh!l yrafiehar i s Hifg |

Positioning is done in the consumer’s mind and not of product. Explain
its relevance in the context of a competitive market.

T sr@iell it Rl dwErell % e gEe e wfid % S FE SSH
BT R 2 e el ofit el emedl % i ST % HRUT i TR HIN |
What is the purpose of reconciling Cost and Financial Accounts ?
Explain the causes of difference between costing profits and financial
profits.

SsieR Eier fioly o So-fem =& oar @ | Savier Foke e o fafts
= Y ST iU |

" The consumer does not take buying decisions randomly. Explain the

various steps of the consumer decision-making process.

RS T VY ST % THH & S & dH HIE HAl & | Th AR Ig AlgH
# gfg w ¥ @ gEdl o faw W uftefstr i gfg Fd 1 Th FaE qGH
AT 2 |7 59 FHYA 1 SAEHTHS T Hifr |

“Leverage serves as a tool which cuts both ways. On one hand it
increases the risk and on the other it provides an opportunity to increase
return on investment.” Critically examine this statement.
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